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Rabboh said, even though there is no acquisition, etc.

Overview

The X723 cites a dispute between 7127 who maintains >7°7 ¥°p5% °"R2 0"V 1P PR
Jwyn, and VPR °27 who maintains 121 2™2v% P . Our n©OIN reconciles the
view of 727 with seemingly contradictory sources.

mooIn anticipates a difficulty:
= 1939 W NRNDN TU¥NN 119 NIV 10199 INIY? Zwyw %9 by IN (3,97 5595 NINT N

And this which the Xn»»92 taught previously, ‘even though the 721 made his
field as collateral for the Y8=w», nevertheless it is exempt from =wy»’; it is
evident that 337 s, which contradicts the view of 727 —

mooIn responds:
- 311’):‘,75 2IVNTI NIV NNDPIND NIIN

We can establish that Xn72 that the field was in X>1® as the X723 answers shortly —

mooIn anticipates another difficulty:
- 99 999 $9UYnT ©2919 72PN 1 SPMAN DTV DN (x,xp g7 xeen xa3) INIYAT NP

And regarding that mwn which is cited in w3 19, ‘one who contracts to
service the field of his fathers from a 9321, the rule is that he must first give

wyn from the entire produce and then give to the 731 his share’ -
- "pap v oYY Onn 1Y SN

And the X713 there rejects the proof, that really 1 @, and the reason he is required

" The »21 borrowed money from the 7% and set up his field as a 11own (see '0In there &7 7"7 [TIE footnote # 10]
that the 2w eats the m0), the 7% is exempt from »"11n; proving that 171p w°.

? In the X032 there it reads 10m°1 (9XW*2) 2 AWYW "X, so here too it should seemingly read 1011 PXW AWYW.

? See the bottom of this T1»y. We can maintain that w12° 7 X2 Tr° ¥12°3 so the MW 27 in X0 is only 132777,
and therefore by a 132771 21 a >33 has ¥°pd77 PIp (see *"wA there X102 7"7). See w"wA, who asks, why did not the
X713 ask this question and give this answer as it did regarding the Xn>12 of npbw xw» .

4 Sapnn means that he is contracting to be a sharecropper (the 22p» does all the work) and he and the owner either
divide the produce or he gives the owner a certain amount (or percentage) from the produce.

> In the X%3 there MK 77w can mean a Jewish field (in *"X), or it can mean the sharecropper’s parents field, which
the 121 took away by force, w'"y.

® Let us assume that the field yielded a hundred bushels, which would give the 22p» fifty and the »131 fifty. However
we require the HRw° 92pn to set aside ten bushels for qwyn (to give to the »19). The 121 receives fifty bushels (he is
not concerned for 7wyn) and the 7R receives only forty. We make the 8w pay five extra bushels for the share of
the >121. This would seemingly prove that 11p PX, therefore there is a mwyn 1.

" The conclusion therefore is 11p w°, which contradicts the view of 727. See’ Thinking it over’.
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to give the entire Wyn is a 0Ip.

mooIn responds:
- X999 119 1IN ©YPN 991 o8 VPRI P11 NN NNITAVY %9 Y 9N

Even though the rejection is valid, as the X723 infers from another Xn>>72 which

mentions that the *721 was a ?°3», nevertheless it is not a perfect proof -
- %535 PR 9207 N29 MY K81 BIYY

So really /729 can still maintain that 517 N.

mooIn anticipate a different contradiction, regarding the view of 7°Xn °27:
= (%,N5 97) DT NTIAYT NNIP P9 9102 P3P WY 9307 9NN 29 INIYUN 1))

However we do find that »''% maintains in the end of the first P9p of 1''y noon
that p w» -

- MIYUPNN 1Y ¥PanT oIwn oty 1nY 19959uN PN 1INT
Where 1" states there in the 71wn, we do not rent out fields to o°121, and as the

X773 there explains, because he exempts the field from nywyn -
= AUYNA 2N NYINY M DD HRIYI JY NINY It DoT

For as long as it is owned by a »Xw>, whoever plants it is “wy»2 297 -
- 1937 W1 M09 ayth 02919 121w 13at 39

But when he sells it to a 921, whoever plants it is 999 from Mwyn» since °1p W -
- NN YPIP YN B399 T2IY PRY N1 AYPON I PR 13D PN INT
For if we maintain %12 7°R, the fact that the 921 is not "wy» land which is 2%

Twyna, would not be considered 71¥pPen from n1wyn; MmooIN proves this -
= NYPAN NT PN NN 99D NN AT WM AN YWPN ) NI 14‘[’ﬂﬁ onng

¥ Generally when we try to prove something from a source, we may reject this proof by saying, ‘we can interpret this
source in a different way, so there is no proof’. At that point there is no proof either way pro or con, since we can
interpret the source either way. However there in %W, the rejection of the initial assumption (that 13p 1°X) was not
merely a rejection that we can interpret it differently, but rather the initial assumption was refuted. The X723 there
brought proof that we must maintain 1P ¥” since a similar Xn>12 mentioned ¥ and the only way we can understand
why he mentions ¥, is if we assume 717 2. See the X3 there for the details.

’ A p»en is a powerful person who forcibly takes what he wants illegally.

19 Perhaps 1727 can find another way how to interpret p>» even if we maintain PIp PX, or perhaps 7727 can interpret
the X210 there as >"w interprets it there in %W so we can still maintain 3P 1°X (see 7wn n2n3).

"' We do not rent them the fields because of a 77°13 that if we rent to them, we may sell it to them and by selling we
are ¥°pon the field from M wyn, as MooIN continues to explain.

'> The 7y77 is MW even if he is a x>,

3 moon is explaining, how are we sure that »"9 maintains °Ip ¥ since the reason is N1wynn AvpPdA, perhaps 1P "R
(and if a 5% plants it he will be Mwy»a 27°1), but nevertheless it is still considered NMwWynn nYpPon because the 123
is not giving wyn from a field which is mwyma 217,

'* In the mawn there, n"" stated that one cannot rent out houses and certainly not fields to 2™133. The X3 explained
that by houses, there is only the 710°X of yX2 717, but by a field there is an additional M10°X of n1wynn 7vpPsa. The
X3 asked that by houses there is also the additional issue of 7Tt AvPoa. The X713 answered 777 N2 AT
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For the X7n) asks there, by a house he is also exempting it from 7112, and the
X3 answers that the obligation of putting up a 7112 is on the dweller, and it is
not considered .'mpbn.ls We have thus established that »"3 maintains 1°p v -

nooIN therefore asks:
= (3,0 97 mnam) INYNIYY 529 P93 9INM 239 9INT NN

And this which »''9 stated in %' p9p -
- HINIY? HY LY 02915 121y Hun Prnn

One may separate 72170 from the produce of a 721 on the produce of a »X=w>;
this would indicate that ip X, for if 11p @ the produce of the »121 is MWD from »"iN (and we
cannot be 21177 %Y MW 12 0MN); this contradicts what we said previously that »"9 maintains ©°
13]|7 —_

mooIn responds:
- 1939 YA Y 053919 12331 7 Ar10a 1mnnbo ypm 1909 HNIYWS 12 191U 99N 8NN

There we are discussing that it grew by a »x7w>,'® and therefore the X723 there
establishes that their dispute'’ is regarding a'1ov77 m7°%,2° but not whether w»
P =

Moo concludes that since »n"9 maintains 1P ¥ -
:9°9W 53wt KON V9NN 5399 29INT NIN 912995 813 71N RYIN 2295 Pxon 7°99 "2

So therefore when the X723 here challenged X''S (who maintains 1P ¥°) from
sources which maintain 7°1p X, he could have answered, ‘I agree with »''9*> who

maintains 1P 7, but anyway the X723 answers properly that there is no question from
this source.

'> The obligation of putting up a 7t does not depend on the owner of the house, but rather on the one who lives
there. Therefore if we sell a house to a °121 and he lives in the house, there is no 7vps: from 7177, since a *721 is not
21 in a . The same will apply to "wyn, even if we maintain 712 1R (so the field is 2wy»a 21n1), but since the
721, who is harvesting the produce is not N1IWy»N2 27, it is not considered Nwynn Avpaa. However if we maintain
1P W then it is considered NMwynn 7YPon, because previously when the 78w owned it, whoever planted that field
is MWwyna 2111, but now that the *731 owns it (and we maintain 13p %), even if a YRw> plants it he will be 7w
nwynn, therefore the sale to a °721 is considered MWYHRn AYPO:.

1 "1 20w " argue with (777 ") 2" and maintain that one may not be 20 from a 131 to a YRW".

7 117" mean smoothing out the pile of grain. It is at this point when there is a 2F to separate 72171,

18 The x> grew the grain (so there is no issue of 7°1p ¥, etc.), however it was sold to a *731 and he did the man.

' The X3 introduces the abovementioned dispute (footnote # 16) saying X7 *Xin 2"12y m».

291" maintains 2"12¥ M7» is not 712 while w" 7 > maintain 2"y M is .

! See w"w who comments that we do not find any question on X"3. Rather Mo may mean that when the 727
brings his proof (by saying 77 R1nR Xin), this presents a difficulty for X"1. Regarding this (implicit) question, X"
could have said that he follows the view of n".

** See footnote # 21. The X3 refutes the proof of 7127, by saying P57 " "19¥7 PAYIR 191 HRIWT DY K.

3
TosfosInEnglish.com



MR "7 '0IN R, YA 702

Summary
727 maintains 1P X except in X°7110. 1" maintains 7°1p .

Thinking it over
mooIn asks on 727 from the X3 in »xwn.” Why does not o0 answer that the

XT3 in PXWi is discussing X0 where 727 agrees that 1°p ¥ (as Mo0IN answered
before)?!

2 See footnote # 7.
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